Test Date: _______________

Study Guide

Learned Behaviors vs. Inherited Traits (AKS 14)

Allele – One gene in a pair of genes (as paired on chromosomes); Ex.: In the gene pair Bb, each letter is an allele
Chromosomes
- Thread-like bundles of genes; half come from your mother, half from father; humans have 23 pairs; found in the nucleus.
Crossbreeding – Crossing two different species of plant or animal to get a new species or variety.
Dominant (gene) – The gene (in a pair) that determines which trait appears.
Genes – Basic unit of heredity. One gene carries information for one trait. Humans have many, many genes.
Heredity – the process passing down traits from parent to offspring, generation to generation.
Hybrid – the offspring of two different species (result of crossbreeding); either a new species or variety (Mule, Liger, Zedonk).
Inherited trait – those observable traits you are “born with”. Hair color, eye color, etc.; passed from generation to generation.
Learned behavior – those traits or behaviors that you are not born with, but learn from experience: riding a bicycle, doing math, speaking
Offspring – “children” (plants, animals, etc.)
Recessive (gene) – the gene in a gene pair that represents a trait that is not expressed.
Reproduction – the process by which plants and animals create offspring which contain traits from the original parent(s).
Traits – observable characteristics of an organism.
Punnett Square – a diagram which allows all possible gene pair combinations to be seen based on genes from each parent.
	· compare and contrast the characteristics of learned behaviors and inherited traits 

· recognize that offspring can resemble parents in inherited traits and learned behaviors 

· discuss what a gene is and the role genes play in the transfer of traits 

· explain the role of chromosomes in development 


What is the difference between dominant and recessive?

Example of Punnett Square:

B = Dominant Allele (Brown Hair)

BB or Bb = Brown hair (dominant trait is expressed)

b = Recessive Allele (Blond Hair)

bb = Blond hair (NO dominant, so recessive trait is expressed)

Mom has brown hair (Bb)

Dad has brown hair (Bb)
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Each parent has a gene pair. Their offspring have one gene from each parent’s gene pair, resulting in a new gene pair (so, half from mom, half from dad). 

In this case, 75% probability (3 out of 4; or ¾) of offspring will have brown hair; 25% probability for blond. 

Bonus:
Who was the father of modern genetics? Describe his experiment.
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